= A
N = 0 &8 AFH Y & A AN
20125 =4 3 3 2LBISAVIIEIEESH AHS ~ AlS
SN AIS
HA: AS AZZ
S FUNXMAEH HWAS2E L HOYAILD X (&2 &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
MIHE 214,530 214,337 193
AMTHS AFI B HI 136,850 138,810 A 1,960
FOXXAEH LHAS2E L HoAIE XA 89,860 91,820 A 1,960
ZOIHOIAL XS 32,280 34,240 A 1,960
301 Yt A2 840 2,800 A 1,960
09 ZAU2LLABAZ 840 2,800 A 1,960
OAMBl=R0l2l B8 SAH
A E6,0009 x1H %140 840 2,800 A 1,960
HYSHAH (MIHS) 77,680 75,527 2,153
ol AY(ATHS) 23,720 21,567 2,153
REHOIAY (ATHE) 23,720 21,567 2,153
101 124 H 23,720 21,567 2,153
03 R HA22UHE = 23,720 21,567 2,153
OFAtZ2IY g2 23,720 21,567 2,153
== A XB18,4002 x1H « 128 9,821 9,267 554
g = 29,820,800 *1/3 3,274 3,089 185
~Al 2t 2 gt ZEE,9702 « 1Y %224 2h+ 129 1,841 1,735 106
-gdaesg A T55,800 1 22U x 122 1,340 1,264 76
-4y A E37, 2009 *19 #52% 1,935 1,826 109
-Asasy A H37,200@ x1H x19Y 707 667 40
= 29,820,800 *12% 1,179 1,112 67
== 20,0002 *42 2% 960 0 960
-HE S| 2 X 818,400 x60%*23] 983 927 56




